) ¥ 3500, % 4

). ‘None’ of these
statts ~ some busmess - with
0. ‘After 3 months B joins

" im with ¥ 70,000, At the end of
x year, in: what ratto should they

“share ‘the profit ?

A 250,000 %1 Toft e % T =R

:-ﬂgmél 3% % 9% B¥70,000 faw -

g e R A Wie € ST 1 9 A

"“',,mmﬁﬁm ST ¥ TN WK B,
@13 (b)3:2
(e 1_,.5 (d) None of these

A started  a

B Jomed him with -some invest-
- ment. At the end of the year, the
“total profit was divided between

“them in-the ratio of 9 : 7 How much

capital was invested by B in the
business?

'A@wmwmqm?%ooom

it Frw 1 81 4 B A% B 958 Yo

0w X 39 =R W wifer 37 S S e 1
TR AT AN FR:9: 78 ea‘j}xﬁq

'WWW%IWW{BHW@I’?

FRaEn -
~(2) % 40,000 (b) T 42,000
.9 ¥ 41,000 (d) Nones5f thesé

A started some bwsm{ess«-w th ¥
| 26,000, After 3 mon@rs, B‘gom him

- with 16,000. Afteryson e Hibre time

C joined them with 425900, At the
~end of the year, ou%éof “aJtotal profit of
¥ 15453, C%e 3805 as his share.
- How : many ont‘t’isdgfter B joined the

busme d1 oin?

3%@31?:13%16000
= wﬁwﬁaawneﬂﬂ
BH*WWW«TMc:*s:?rasooofqésr

o i‘.'mWﬁmﬁWI o 215,453 &

1% G e zag25 ¥ o R O
%;ﬂmﬁa%ﬁa}ﬁﬁ%%aﬁmﬁ

(b) 4

T

business by’
-investing ¥ 36,000. After 4 month

“(d) None of these‘ -

: (c)A5': 12: : 14' é) 1:'01}16 of these

A started

. _]o1ned /ﬁlm w%‘tﬁ
. end of tk elye

A%What

vestments m the rat16 1

half amount more .as before and B

invested same the amount: as’ before.

1
whlle C w1thdrew I th of the their

- mvestments Flnd the ratio of their

proﬁts at the end .of the year.

A, B WUl Cc A vt g Fe:
1:2: 4?%9@131#1%&31%@@%

- & R 69T W W A Frafr st

ST S W SR B erd ot oY,

@Wﬂﬂtﬁﬂaﬁ{ﬁﬁﬂﬁmcﬁ& o
b) 23,20,000; ?240 000; %160, ;000

Mﬁéﬁmq\eﬁm mmﬁﬁ%

mlmﬁaﬁemﬁﬁﬁ@& LY
ﬁwnﬁﬁm? '; . \%

3 usu'less with
3 52 000, ancf aft'e;,l 4 months B
39,000. At the:
5 out . of the total
proflt ST ce?ved total 20, 000 in-
cludmg 25\3’/6 of the’ proflt ‘as com-
ﬁﬁ§31on for managing the ‘business.

riount did -A'receive ?

S

: Aq_@maﬁm&wﬁ 52,000 Fi

foft e H1l 4 AR % 9% B £39,000
T ot FRW T SR ¥ ¥ @
T oY ST H SR e % oy e
w9 H 25% fed 20,000 H1 | fewmm

| »BﬁﬁWWIWHﬁA?ﬁmWﬂ

faerm?
() T 20,000 (b) T10,000
(c) ¥15,000 (d) None of these

A working, paitner gets 20% -as his
commission. of the profit after his
commission: is paid. If the working

__partner's commission is ¥ 8000,
- Then what is the total profit in the
business? -

T iR TR aﬁ FA WA A Q SHH

e 3P AR, T A F120% HHEH

B w9 A e W R A ufw e

FHIE Rs. 8000 T, ?ﬁmaﬁwﬁ

© e A The gc-m?
’ (a)‘ T 47,000 - (b) T 45, ooo
(C). &4 48;000 (d) None of these

= upn Wpﬂ 'W«' b"”'m; Moo E o

14, After 6 month" A invested the‘ o

S B,KQ_A d R are respectlvely

S 20% T gtmmm

&‘)‘R w1 1— 2$a§mﬁﬁﬁmm ‘,

10.

(a) T 1950

(¢) ¥1,60,000; ¥3,20,000; %2,40,000
(d) %1,60,000; ¥2,40,000; ¥3,20,000

We: have to divide a sum ofic 13,‘950 it

among three persons A, B and C. B
must get the double of A's share and 2
C must get ¥ 50 less than the -
double. of B's share: The share of A -
will be :

 Rs 13,050 %1 TR F A, BN CH TW
FER de SR 5 BE e AT

T 27 E 9o C o fe’n BF 2 T fewd
H ¥50 %W B T BY A e =1 @2
(b) T 1981.25

(c) T 2000 (d) % 2007.75

A started business with ¥ 45,000
and B joined -after ward with
30,000. If the profit at the end of
the of one year was divided in the
ratio 2 : 1 respectively, théen B -
would have ‘joined A for busmess
after.
A%wwaﬁwﬁﬂsomaﬁﬁ;
Faw Y qo 9 T 915 B 30,000 FEW
S SR F 9t 2 T A w9

A SR 1D ST AT T F A A

WﬁB%w%aﬁwﬁm

w0 -
(@i 'mdnth‘ (b) 2 month o
"(c) 3 month ~ - (d) 4 month

11.

X and Y are partners in a business. .
They inhvest in the ratio 5: 6, at .
the end of 8 months X withdraws
his capital. If they receive -profits -

in the ratio of 5 : 9, Find how. long

'szard of M’aths Rakesh Yadav Sir—

L

. Y's investment was used? - .
S X YH TF SR K -HHY: 50 69

e H et FeRT 8 W # W% XA
a7t Tty dsh v et o ok 395
: 9% STYUH AT W g &, A T w '
Y#M@WW%WW#? '
(a) 12 months  (b) 10 months e
(¢) 15 'months (d) 14 months- "

.%9,00,000 1 k&

e —

T froe———
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- (b) T 4200
(d) T5400

o) 24000
LA, B.and € subscribe Rs..47000 for

a8
', ', a business. If A subscribes ¥ 7,000
;more than B and BT 5,000 more
" than C, then out of total profit of

" Rs. 4700 C receives. ’ .
A, BRI CH Th =R ¥ §& 347000 HT'
- sl fem = R A B 37000 S
- BY ¢ ¥ T5000 s faw feu, @
, _araﬁmmo%mwwﬁcmmm

ame ,

(@)% 1200 . (B) T 4500
(c) ¥ 1000 '(d) None of these
T 11250 are divided among A, B and

14;

C-'so that A may receivé oné half as .

mich ‘as B and C together receive
and ‘B receives one-fourth of what
~A:and C together receive. The share
of A is. more than that of B by.
Z11250 ! TRTH A, BTN CH T TR
mwﬁAmﬁw B e C®

”ifgaim E‘Im Bl 1%1:&11 AT CH

J-Hg&rfﬁéw ﬁa’rmaﬁ%mﬁr

- @ BF 1%'9& H forae it 32
. (a) T 2500 . (b) T 1500
() T 1800 " (d) ¥ 650 '
Two, partners X and Y start a budi

15. !
: ness by investing ¥ 50,000 aid} g

40,000 respectively. What will the,
ratio of their profits at the end ofd/

" the year?
XwY#qmammﬁ L

(a)5 4
“()4:5 4

X sta.rtsab'-i‘-

~ After 4 montHs\{Y j8ins h1m with ¥
20,000, Wiatiwill be the ratio of
+ /- their proﬁt at<the énd of the year.

- XA X25,000% Tot frw ‘wE w R

o R 4R R AR Y7 20,000 fRw W
e wwﬁmamlmaﬁaﬁa}m
A 3% 0 s 3 e fs
@) 4:8 b)5: 10
{e)15.: 8 - d) 9: 18

16.

19.

20..

A m g o # 2 21, o0
et i 5t et 9 W9 B 1% B 36,000

(@) T 17,400

" the profit earned by them. nge;

er how many. months.

i o v R K U B AR e
ﬁwammgema ?i?am-eh-le%

‘-w%mmﬂwﬁagm?

(&) 5 {b) 7
e} 6 . 49 ..
" A and B started a business invest-

“ing amount of ¥1,85,000 and Ed
- 2,25,000 rcspectwely if B's share

in the profit earned by them is ¥
9,000 then what is the total profit
" earned by them tpgcther?

A gen B 3 www: ¥1,85,000 e X
2,25,000 ) Teft Friw F T AW LF

k.ﬁmnqﬁ:B%€9000mwnmm a o

I R R ¥ He @ e g

(b) T 16,400
(¢) ¥ 16,800 (d) ¥ 17,800 ~
A and B stared a boutique invests %
‘ing amounts of ¥ 35,000 and
56,000 respectively. If:A's shage W

45,000, then what is the

profit. earned? ,\ %

AamB'—’fQ'eﬁ@'ﬁa? t

'35000 7 T 56, 00 . =0

nﬁA #?45099%’1?“3191‘?{&541 @
ﬁ i

SR

\%b) T 127000

() % 72 Qoei,j“ (d) T 1,17,000

A and (B I{é vested amounts of ¥
00 Yand“% 75, 000 respectively.

the Neynﬁ of five year they got a

) Widend of ¥ 46,000. what is.

A shetre in the dividend?

A 1B 3 % T 40,000 31 T 75,000

(a) =\f

AN RS S Y S Qe

%o T 46,000 =t T W H, I W 5
I HA TG EET .

(a) T 16,500 ° (b) ¥ 15,500

(c) ¥ 15,000 . (d) ¥ 16,000

A invested an amount of ¥ 25,000
and started a business. B joined him
after one year with an’amount of ¥
30,000. After two years from start-
ing the business, they earned the
profit of T 46,000. What will be B's
share in the profit?

{\F"f TH ORI YRR A T 25,000 #
T e w1 wE ad % 9" B €30,000

- fev w3 R d wte @ o o

I H GEAR F 2 a8 A% T 46,000 %

T ¥ B feem == w2
(a) T 14, 000 (b) ¥ 12,000
(¢) T 17,250

- (d) T 20,000

cow - L K] L
5

3y

-

ml

e
TS 0

dlstnbuted in 'equal: | two'y

. after B.did not invest any ad
" amount. On. completion of fo
- form:the: opening -of Worksh0p the
earned- an amount: of 1,9‘5~' 00

"amB#aﬁiﬂﬁTﬁ?“

23.,'

What will be A's-share in: the.earning
A%*ofoooo—qﬁ@ﬁﬁéﬂw@@aﬁm
e F s s T 10,000 i
fRw feyr 2 o6 ® A% Sehfe B oy
85,000 FraRT FC 36 AR . W @
Wﬁ%ﬂﬂﬁaﬁﬂ i
=t }a&mm?wsoo
T ‘x’l‘@“%\ @ RS 0 :
(b) 1,10,000
(d)gséoo' 3

V‘aw his cap1tal If they receive
a¢) profits m the ratlo 8:9, Fmd

X @ Y9 T SR | HA: 7 Q%s@m‘

# o S Flw F 8 W @ 9% XA owd

 frfea ot o ekt o e ST A T 8

9@ ua o WY ww fFw R v

o G feot o S e Frw A 2

24.

~ ratio of 5 :

25.

(@) 4 months
(c) 7 months

~ (b) 6 months

(d) 8 months
X and Y enteér into a partnershlp
with capitals in the ratio 5 i 6 and
at the end of 8 months X with-
draws. If they receive profit in the
9. Find how 1ong Y's
capital was used.
X W Y3 T SR F e 5:6:$31§ma
# ol Yo Few Wl 8 HE % Wik X ¥ A
fofm I s freme o 9 o @ A
FAA: 50 9 o ¥ W W {9
H»‘EY#M@WW#WW#’ :
(a) 8 months (b) 9 months -
(c) 11 months - (d) 12 months
Two partners invest ¥. 1 ,25, 000 and

% 85,000 respectively in-a business

and agree that 60% of the profit
should be divided equally between
them and the remaining prof it is to
be divided: into ratio of their capi-

tals. If one partrier gets ¥ 300 more. -

than the other.Find the total profit
madé in the business: ‘

i -ﬁwﬁm%@waﬁwﬁm?-i

Wizard of Maths - Rakesh Yadav Sir

:125000m€850003ﬁ@ﬁﬂmﬁ1
WA F Y T R e W 60% T

‘nmﬁamﬁﬂamﬁéﬁm@%ﬂﬁwﬁm :
o A T WERE B R @ € 300 AE

firem 3, ﬁraﬁﬁwﬁaﬁmww?
(a) T 3739.50 (b) ¥ 3937.50 .
(c) ¥ 3749.50 (@) T 3947.50

ﬁmw& au‘?*:@g'

YN

T T T T S s e

-
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(b) f 1400
- {d) % 1800

roﬁt is donated ‘and X -gets T 8,550
his: share- of profit then what is
“the: amount ‘of total profit.

XFer Y s o w3 2® s
‘ﬁa‘wm%mﬁﬁmwm 5% 3 U

. A T Ao X X T 8,550 % W W

fm a T AT T & _
(@) % 14000 = (b)-¥ 15,000
()% 11,050 (d) T 12,020

28 A, B and C enter into a partner— :

sh1p with capitals in the ratio. 5: 6
:'8: At .the erid of the business term,

théjreceived the profit in the ratio

*5.¢:3':+'12. Find the ratio of time for
* which they contrlbuted their
-capitals?

’AB amc%@mmﬁmaw
516 sa%aaqmqmrﬁrﬁmﬁmﬁ
w53 12%manmﬁm
a‘lsrmar?ﬁﬁm s{aﬁxméﬁmﬁ
. R )
A:rrr(a)-2‘:1:3
281

mvestlng % 16,000 and
rgspectwely After. 3

drew ¥ 5000, while Y gle t 5000
more. After 3 mon’r,ﬁs moré Z joins
~ the business witl % c'%pltal of ¥
21 ,000. Aftef,a e %y obtained a
proﬁt of ¥ 26, 00, By what amount
- does’ the,sha :3\0 Vexceed, the share
Lotz " .

XamYﬁm@ ?160003211?12000
3w R T SR YE R 3 e
-« F TR X ¥ T5,000 79 feme e wEhn
' ‘,Yﬁisoooﬁxﬁamﬁmmsmé

e W T gwm W% 26,400 F A
AWﬁYmﬁm z%%@ﬁmm% ?
. (b) T 3800
- (d) ¥ 4800

. sty

HRZ?Qloooﬁémmmmnﬂv,

g T

- 31,

(d)3 1:5

X andZ invest capltal in. the r'atm‘ o

of 2. : 1 while X and Y invest capi-

- ,talmthe ratio- of 3 : 2. If their an-

32.

X invests a

. time. How shoul

nua.l profit is T 1,57, 300 then what
isy share?

X, szﬁ@mnmmﬁqﬁxam
Z32: 1% sqwm & wahs Xa Y3 3

2% ST F, S o Frdw W AR afts

w ¥ 1,57,300 %, A3 Y s wa
B 2 .
(a) ¥ 48,400

3 (b) X 58,809
(c) ¥ 48,810

(d) ¥ 47, 782

XY and Z enter into pa.rtnershl. \

part of total capita :

one -fourth of the time. Y,:eonﬁ}:
utes one fifth of the capital f“B“Q;) alf

of ‘the time. Z cogtributes thelre-
maining capltal*‘i ole
th ey\ ivided a

proﬁt of T 11407 V‘Q’;

Aﬁ%ﬁ z\:%)ﬁ’m@tgwa%mﬁam

1l we @d T-1140°8, @ wE W
3 «agr/gfrrn 2

:(é*g, 100, ¥ 160, 3880 .

(b}’ 110, X 140, ¥ 860 - -

(c) T 120, T 150, % 840

(d). 140, ¥ 170, 7 830

A, B and C-are thrée partners in a

- ‘business.. A, whose money has been

used. for 4 m_onths, claims 3 ,df the
‘profit, B»who'vse money has been

1

used for ‘6 months, claims g -of the

_profit. C had invested ¥ 1560 for 8

months. How much money did A
and B contribute ?

A Bamcﬁ@wmﬂmﬁmmﬁm

: o1
; u*;aﬁ4wm$ﬁmﬁa‘srmamwﬂm 3

e

' WWMHWB%M@ 6%’%%%’@

ﬁ&mwwwwm é wmmﬁtmcﬁ

71560 % % 8 WE & frw Fdw W wW
S FfT A gt B Y fRe T frem w2

“(a) % 740, ¥ 1250 (b) T 730, T 1240 -
‘(c)?720 X 1280 (d) % 750, X 1260

mﬁn IS

ST

36.

37.

arﬁfqu?%OOOmgw, ,' j

»WYmﬁwwm7
@) 5500  (b) ¥ 5000

Z 6000 (d) % 4000

and B are two partners in-a ﬁrm

sharing the profit' in: the ratio 4 : 5

If the firm earns a profit.of Y14,
then profit to be received b B : :
A, B@mf{a@m%\?ﬁmw
IR 4 : 521 9% FE B HE- 14130
mqu@a‘lBﬁmwmm
i 2 .
(a) 6,280 (®) 27,850
{¢) 31,570 (d) 23,140
X and Y take a grass ground on
lease for.¥300 for grazing their ari-
mals. If X grazes 10. animals for 5.
weeks and Y grazes 15 animals for
7 weeks. The ratio in which they
should divide the rent is = -
Tt T el W ow % R X R YA T
we-HE w0 T 300 ge(fmm) W feRn
R XA 10 WEi B 5 gwr A T Y A
15 el 7 W T e, W I 00w H
59 ogum ¥ feuan sien =g
(@1:2 (b) 10: 21
(c) 11 220 @ 2:-1 :
A and B Started a business investing
amounts in the ratio of 2 : 3. If A
has an additional amount of
10,000, their- ratio of investment
would have been 3 : 2, The amount
invested by A was : ,
A, B ¥ TF =R ¥E lwwﬁ:ﬁ'ﬁ,
2: 3% ogum ¥ fraw R 1A A 10,000
: ﬁﬁéﬁrw%ﬁlmﬁﬁwmms 2

SR, @A YRR vy few fEg 2

38.

zzard @f Maths Rakesh Yadav SEP

e

. (a) 8,000 . " (b) ¥12,000.

(o) 218,000 (d) 20,000
The.ratio of investments of two’
partners X and Yis 11 : 12 and
‘the ratio .of their profit is 2 : 3. If X
invested the money for 8 months;
then ‘the time for whlch Y mvested
the money is 1o

T WERR X ot Y & fdwl o orguE 11 :
S 1272 g1 I N H SR 2 : 3% | A
X A8 TN @ g faw o 2, A Y3 R
e a0
(a) 8 months (b) 9 months N
(c) 10 months  (d) 11 months

o i S

= g

G
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42,

{a)3

B =R B ¥ € o A F T T
TR Tl R AR S S W W e
5T6R, mﬁﬁaﬁ\ﬁﬂmwmﬁﬁq
4 (b)4:3
©).5:6 [d6:5

and C.used it for 11 hours. _The rent’
- -shared by A will be :
A; B ¥R C T #R W T 4160 F R
R fmmAR-7 9, B 8uEda C ¥ 11
e ST SYEN TR, At A %‘r e TR é‘—n
T=m?
(a) 3960 (b) %1120
(¢) ¥1,260 - (d) %1,760
A, B and C arée three partners in. a

. business. The profit share of A is

43.

. sleeping partner in b
- in ¥5,000 and B put!s 1

,aglng the bus ‘(lnes anaa

‘tals. The amoai
“of the p;eﬁ\f; of ’{88@

@32
- (o) 472

16

% of the p’roﬁt If B receives’ 3243,
‘then the amount recelved by ‘B will
be :

T SR A, Bamcﬁ?aw%‘ Aah'r

: 3 - s
Fllﬂfﬂ-ﬂg,?fm.’q’ﬂ Te %H?HBEIWW@

(b) 96
(d) ¥120
andg s a
puts
000 A
received 15% of the r.of for man-
the rest is
OT, 1on o their capi-
t%ce ;e Ved by A out
in all-is . .
T SR A gﬁf%m}a@m%m B ﬁrﬁm
WERR 2 1 A\ 5000 T § w1 B ¥

(a) %90
(c) T108
Ais a working part

divided-in pr?

6000w & VA @ @1 15% SR

Bﬁam@mmmam%l 9w

AB and C hu'ed‘a car for ¥4; 160 A
. used it for 7 hours. B for & hours .

of the profit and B’s share is

N

45.

. bus‘iness‘. A zc’o’ntribUtes 3

46.

woer @ f frer & ok v aw v 4R

@ R H e A w1 T 880

Fa-@T H Y A H et ufer fee
" (b) %340
(d) 3492

g o 5 2 , A

. iﬁm%laﬁmﬁmﬁ-ﬂ%mwmwm! .
43 2%a}c%ﬁaﬁmﬁammz}7
‘(a)%18,000

. 1
. capital for 2

-the time and C the rest of the capital

" for the whole time. If the profit is
¥1,820, then the A’s share in proﬁt %\
is

() 71304 @L(by 3260
() ?292\/?5\} (d). T304

(b) ¥16,800

(c)"¥18,600 d) ?10 800
A, B and C become partners in a
ooy

‘of the

of the time B contrib-

utes gth of the capital for Gth of

Fﬁcﬁw%mﬁm
1820:% &, @ A e

In a busif :: A”and B gamed someé
amoun in"‘? certam ratio- B and C
ecegved'»the profit in’ the ratio as
t a,tﬁef éand B. If A received 36,400 -

CFeceived T 10,000. Find the
she}r ‘of B o

WWﬁAamBaﬁwﬁwmnv

L % la&Cm?‘%swg‘gm‘f | T g B e C W Rt Sl erpa F e

"ma}sm}mﬁmﬁma

g o o § A gun B Wi gen o1 | AR

e § § A T6400 70 CH 10,000

fih @ B fhed 9w By ?
(a) 2,000 - (b) %4,000
(c) ¥8,000 . . - (d) 10,000

47. The capital of A and B are 220,000

and ¥4;000 respectively. A is en-
t1t1ed to be paid a salary of ¥1,200
per. annum bemg a working part-
ner. If the gross profit for one year
_is ¥1,800, their shares in the profit
are respectively :

ATen B w Ot s ?200003?11 g

4000 &, A'® ¥ 1200 AffF ¥ AR i

worer & fore v % 1 ARk w o w5

. T T 18003, @ A 1 ey fee @

(a) ¥500,3100 (b) T1200,3600
(@) 1, 700,31,300 (d) %1,700,3100

,.43\

49.
in this ﬁrx'ﬁ a’s“\ riew partner.

‘taken his shéare of proﬁt from A and

: slgaré‘mg ratio will be-:

51.

Hd) %2,000
“(¢) %1,500

a firm-in the r?bto of 3 2 center

75 h
Q
profit éha;mg étlo 1s

B ug;equal‘xraho, then the new proﬁt

ﬁA@?B%amm%lﬁwm Lo
@2 mﬁ%i@mm%mnc;]! ‘

’3 ﬁm%mmﬁfgwmﬁ—w”"*

R C%A:ﬂkBﬁwa@mqm,_;; :
i foran & @ S HR S e

@19:11:1 B 19:11:10

(©10:11:9 (4 10:11:19 -~
A, B and C share the proﬁt in the:
ratio of 2 : 3 : 7. If the’ average

* gain is 8,000, then B’s shareis:

ABamC%wwmwaimaz”s 7.

. ® 1 AR s @ < 8000 %, mBan‘_.'_"

IR I F ?
(b) 31,000
_(d) ¥6000 i
A, B and C share “profit in the fatio
11,7
arSeT e BE
the profit of C in the tatio of 4 :'5
repectively The new profit shar-
1ng ratio of A and B will be : . -
1.1, 7
A, Bmca%wwaﬂaﬁqm 2761
{1 A% C Farfma @ mﬁc%fm@ﬁ*
F o W omE § w40 5% W A
Hied ¥, ﬁAmbwwwWﬁw.;

¥c retlres they share

CoRm?
(a) 55 : 53 (b) 53 : 55
(¢ 5:3 (@3:5

52,

Wazard of Maths Rakesh Yadav Sir

A, B and C enter into partnershlp S
A puts in 1200 for 6 months, B,
© 800 for 7 months and C X600 for . -~
8 months . The share of :A out Of a___ ek
_profit of ¥396 is. :
A, Ban Cﬁw%wwmg 'A.;f{ 3
% 6w % fow T 1200, B 7WH T
faw T 800w C % 8 wert @ g T600-
w1 PR e, a‘f?s%a%amv@”‘-
i feremt gim?
(a) T162
(c) 108

(b) T62
(@ %18 .

=

T T
L,
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XA ?480003%11
jmzl Stnsa%aﬁA

: m qAH R

; (b) 330, 000

C(d) Z37,000
together started a busi-
M nvested %.6,500 for .6
oriths; Pinvested T 8,400 for 5
-months and :Q invested I 10, 000.

per for: which ‘he gets 5% of total
&0 profit extra. If the total gain is ?
,400, . then Qs share is :

,P-w@#ﬁm@wwm.
M ;'6?@1#@?6500?!%%&1 B
#5n€ﬁ$ﬁq?84ooa;rﬁa‘amam
}- 438 @ fag € 10,000 w1 Fre R

{\ N -

E4

5y o fawmr ® | A wE w@E 7400
;ai*le fewa @ w2
. (a): %1900 :
. (b) %2,100
¢ (o) ¥3,200
i 7 (d) Data: are incomplete

55. 'A,B and C jointly start a businees’ i

< R
: »"{re%s}pec

{ - ‘A putsin %15,000 for 8 months B:

| - putsiin ¥12;000 for 9 months and c

’ .;puts.in ¥8;000,. for the whole year.
~ In-the end: of the year theré is a profit

' ' A share and C share in the pxofiﬁ
l wo-will ber K‘ﬁ?\f
g IR W BHWC#WWWWW‘{%}\
3% 15000, 8 Y @ fag, B '('\12000},

9w E e CF ?sqocﬁg
o Tevem Rk %, 10,800 71

| S, o A qer Ca}wm@eﬁ;’aﬁrmf

@0 1?)»?600
Ci(e)R12000 -, ‘,1,800« :
‘ TO86L A started “by investing
L RB0, 000 é,)gnonths B-joined’
o - vher by, ves m ?75 000 .. After its

at is‘théiratio of profit shared
- vafter'2 yeatyamong A, B and C?

AR 50,000:F frEw @ W TH AW
305 e 16 R @ v, B T 75,000

month? Eoﬁéd with ¥1,25,000

AR C % 1,25,000 # W s A WA
EEWII2?=|1f%1WﬁﬁLA BﬂC%aT'ﬂWI?ﬁT

()8:9:10
(dy 458

(@) 9:16: 24

""a%a-ﬁ‘mmﬁ@Aaaz 587(°’3 "%

3 'months. M is working mem- - ‘

‘;%5250%@&1@ A T 4 A, B
- e . 2

7| o dere @ faw MR e e

). " Three” "
Vi busmé’é}é} \‘j@

. - +0f-%10,800. The dlfference between ,

R

B WY SR e gen S 9P 6 T

ww%&mﬁmm ’7
(b)3:4:4

Sd)y3i3 s

Three partner A, B and ¢ started a

business by investing: Rs: 48000
each.after 6 months, A left the
business after 10 months B left the

. business and after 12 months C left

the business. If total earned profit
is Rs. -5250, then find the share of

A, B and C?-
A, Bamcﬁam%m%%ooo-ﬁm

‘@Wmmwmméum a

’\‘{‘2\‘

() 711252182532 ﬁés&\s

7 (b) T 112531800402
Loy et 125, ?1873 L“%2\/50

r'""'"._i(d) T1I45,% ,“156 52350

Ay

’tners -started a

1nvest1ng Rs.60,000,
8&,009 and. Rs. 1, 20 000:
gi;szr/ely Flrstpartner left the
after -4 months,

@

buSLn«ess

S séqo dafter ‘9+months and third
:‘ refnamed in the ‘business forthe

. whole year. At the end ofyear the
total  profit’, earned  isRs.

Ki_l 60, 480 then find theipshares
.of proflt
T WIERR ShEI: T 60,000, % 80,000

qe 71,20,000 1 FEW & Th

W%W%lmﬂﬁm4nﬁﬁ
-, TEA O FE T e e R o
g R G N AR T B e
| I 71,60,480 T, A e W

"IWWMW?PN

(a) T 16840, T44188, T 92686
(b) T 16048, T48144, T 96288
(o) T 16042, ¥14842, X 9862

(d)'T 15000, T18423, T 7562

. AB and C have mvested a sum of
" Rs. 12500

in a’ business. B
invested 'R, 15000 -more than A
and C invested RS. 20,000 more
than B. If the total éarned profit is

. Rs: 37450 at the end: of year, then .
- find their shalre‘of profit.

Scanned by ‘CvéﬂmSvcanhevr

63.

wizard of Maths - Rakesh Yadav Sir—

'months A j}omed the busmess S
?420001%{%513@?@%‘@; il
&mrmz@%ﬁmB?@oooﬁm R |
pey) SR H wifde B e A e d e
@ F e ¥ ¥ A #9000 7 Bl
?7000%@31131 aiBfm%tﬁﬁﬁ

“(a) 1 month -
o) 2 ‘r'nont‘hs“

. ‘ratio of

(b} 4 thonths

(d) 3 months. .

A started a business by investing
some money and B invested Rs,.
5000 more than that of A. A
remained in business for 5 months.
and B remained. in business’ I -
month more than A. out of the total
profit of Rs. 26000, B got Rs. 6000
more than A'. Find the capitals

invested A and B.

_ Aﬁw@%ﬁ@wmﬁmaw
B3 AR T 5000 s Faw-fEn A, 5

TR 7 R § W@ 99 B IR 1w ity
& =OR H Wil wa av-T 26000 F g
ol ¥ B 1A 9 T 6000 e T gW T

‘ ﬂmﬁAmBﬁWm@ﬁw#?

(). ¥29,000, ¥18,000
(b) ¥25,000, 30,000

" (¢) 15,000, ¥10,000°

(d) ¥15,000, 320, 000

A, B and C invested money 1n the
1ll b Aft ‘
535 in a business. er

4 frbathe A doubled h1s invest-ement-.
. and after 6 months halves his
investement. If the total profit at the

- end of year be Rs. 34650 then find
. vthe share of each in proﬁt

111

A, chﬁmwﬁ{eﬁ— FiE

235
% oo ¥ fEw w1 K T wR 13

 oror Yol Rt g R TR e 6 TR R

-‘aﬁmwﬁaﬂmmﬁmlﬂﬁaﬁ%
S W 34650 T AN EAA, ?ﬁwﬁ@

- uﬁmw %wr FTEW 7
© (a) ¥20,000,325;000,318,000

(b) ¥15,500,327,200,320,450
(c) T22,500,36750,35400
(d) ¥10350,21,540,312,050

e

T




or1g1na1

nvestment If the total ‘earned
- profit at’ the end of the ‘year, is Rs.
: -'~’117940 then who will get more
i money as a share of proﬁt dnd how
. much? :
"Ask B el s ¥ ?ssooow
f4sooomwmweu 41@#«

| 4
Bt §ft w1 o g " fw a4 e 5

TR A T A R W 19—1 S
T R 3 21 ARk o S s W T 117240
W, W T Y et ol e v
Sifie W B

(a) A, 15,500 “(b) B, 12,450
(c) A, %14,245 (q) B, %13,560
A, B and C started a business by
investing Rs. 24, 000, Rs. 32000
and Rs.18000 respectively. A and
B are active partners and get 15%
and 12% of total profit and
remaining profit is to be distributed
-among them in the ratio of their
investment. If C got total Rs.65700
as a profit,what was the total

65.

*amount of profit ?
A, B @1 C T =R ¥ %W T 24000, ¥
32000 w=r T 18000 e +=d §1 A won

» Bmmg‘mmmmww~
15% @& 12% W Bl 21 9 o 3 3
W FRfE IS & omun § | fen s )
Ik C =t F&@ T 65700 I= g0 W, @ WW
Fite & @ #1 5e of F=w ood 2 Ay
(a) ¥4,70,000  (b) ¥ 3,70,000%, /i
(c) ¥3,45,000  (d) %1,57,000 \‘/\;3
A, B and C hired a pasture A\\‘\
grazed 12 cows 2 hours evex day,

- B grazed 16 cows, 4, hours;ggyery
~.day for 6 months ant \wagr zed 6

cows 9 hours everyday"\'jfgr 2
months. If A has paid, Rs‘ 1152 as

a share of fare. F th amourt of
{ Y .

o

total Rent.

T R fomm A Y

@“V‘q—wz}mwanél

2D TR Sl 4‘Ezaﬂatﬁ6mamarrsf

T C A6 R R @ 2T

TR B Y e R @ W H 7 1150

V_mﬁma’taﬁaﬁmﬁﬁmﬁwm

R i o ' N

e 1413 (b) %1214
{e). Cd) ?1102

o
o

68.

’ b‘.earned»a the end of the ‘year is

Rs. 444 flnd the. share of their

profit. n

';'fAisooﬁwi’rﬁ@W%"W%‘Q
WH 9% B =R # T 400 WA ¥ SR
IF B P 6 W a” C T 800 T

qfeE B o S A 9 @ o He A <

444 7, a?mﬂéwimmww%m%?
(a) I180,3120,3144 -

(b) ¥150,¥180,3123

(c) ?160,?141,?‘1‘25'

(d) ¥141,3110,3140

A and B started a business in part
nership by investing Rs.10,000
and Rs.. 4000 - respectively.
condition of part nership is that

th' Rs. 800 If he total prof1t

B got Rs.100 per month for ""r

management of the busmess After
paying 5% interest on the capital,

annual profit has distributed in the, \?}@}
ratio of their investment. Find th \];9}

share of their profit; if the annu%&a

)

profit is Rs.~ 4000. _ \

A st B 1w = a:m{ Tpl\ooooﬁrﬁ
4000 =1 g5t e R T e
B # =R % %@w(%\ﬁlqg 100 ‘whwe
e e 51 TSt vﬁrﬁ&g%ﬂﬁmm
T S 3 o PR g T T G
& I m'ﬁm‘ﬁgt? 4000 = =t
T I wdw %mr@ﬁ kit

(a) ?30({5\,3%011 (b) % 2500 each

,ﬁ‘znsoo éach (d) ¥2000 each

69. A\"%\!‘and C are partners in a

buf§ lgess partnership. A invested
Rs. AOOO for whole year. B invested

D\ Rs. 6000 intially but increased this
“u\investment upto Rs. 8000 at the
end of 4 months, while C invested
Rs, 8000 intially, but withdraw Rs.
2000 at the end of 9 months, At
the end of year total earned profit
is Rs. 16950, find their share of

profit.

A, BaﬁszwwH@mélAﬁaﬁﬁ
fae ¥ 4000 @ ¥ B smer ¥ 7 6000
e & oY T A s S 8000 Wt ¥
m@cwﬁ%sooom%m 9 T
%mn%zoooﬁmaﬁm%la&%mﬁ
W X 16950 % @ ¥ ¥ v W feww
_aﬂﬁ@ .

(a) ¥3600,36600,36750

(b) ¥2000,33050,25400

(c). ¥2450,32460,31456

_(d) None of these

Iy

4’7‘“‘

3 (d) T4200,35600,4200 . ¢

o

N ibi 1

2N,

* business.

. total profit of Rs. 35,700 ‘earned at o

. et =R A 9 wERR A, BaﬂtC%m

72.

' aaﬁwmaﬁm 30%A%
ﬁug\vﬁcﬁﬁéwaﬁmﬁ:aﬁ*mr

- :szard of Maths Rakesh Yadav Sir-

in" the ratio of

-mwﬁwwemﬁﬁ@ﬂ

a a3500 72450, ?2145
(“) ¥3000,%4500,32100
) %4000 ,23500,%1254

Three partners A, B and C invest

After 3 months A
increased his capltal by 50% If the

the end of year, find what was ,the. :
A’s share of profit ? l

FHE b mmmn
AL AT I S F 50% W g WA
w&aﬁ%mnw%ss700mm@
®, @ 3w ¥ AW fean @ o

(a) ¥12,000 (b)X 16,500

(¢) T 13,000 (d) ¥ 15;600: -

Out of total capital required to start

a business A 1nvested 30%, B

2 i
invested —th and C 1nvested the

remamlng capital. At the end °f
one year sum of Rs. 4000 is. Camed
as a profit which i§ 20% of the . :
capitial given by B, then find. how”;:, 1

2
much C invested in the busmt‘ﬁSs

@%
m,

4000?5(@;&531[3} @Bmm’fﬁ

20% ¥ 7 C ¥ 3 =R & ma“t ‘

(a) ¥25000
(c) 1 sooo
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total earned profit
- the end of 9 months,
"cji'f _each in profit.

332% of its
' 74,

% s 4 o

- (@) %3535, Teses
~ (b) %3055, T58S55

~ (d) ¥3545, 33333
1is that, each will the get interest

on his capital at the rate of 7% pia.
~ and the remaining profit ‘will be

(¢) 4508, 21345

Three partners invested Rs.

42000, Rs. 48000 and Rs. 32000 =

respectively. partnership condition

divided in the ratio of their
capitals. If at the end of the year

@ | 6. ® |64 @ |72 @ | _—

' yyizard of Maths - Rakesh Yadav Sir-
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i Share ofA (AW ’I‘Bw)
=500 x 4 =% 2000 -

: Sha_re of B (BW%WI)_

e T 500 x 7 ="% 3500

L2e ) A ¢ B

' : Gapit_al—> so;ooo 70,000

o ."Accordmg to the quest1on, T
© . (312 + 144 + 25T ) units = 15,453

: 15, 53
(456+25T)
Share of c(cmr ﬁw)

15,453
= (456 +25T)

Lunit =

x 25T -

Note Because C's shatre =% 3825.
LO1T = 456 + 25T

@9 300%25

T profit
;ﬁoﬁ running business B receiy

Let profEoRA (M A W i)
andprdﬁﬁ‘B(qﬁleﬂm 00
(. @) =300 uti

aaﬁéﬁqsmamﬁn

100 =75 umts

Note : Remaining profit Wl]_l b’ g

: Y 76.T = 456
s - ided in the ratio of the1r capitalg:
Time. -> .12% = g¥ .T =6 months. vi D,
1;3roﬁ1.:i _} 60 — 63 Reqmred time (ST'iﬂ'Q W) = (‘} “’6) (ﬂqm‘ﬁﬁ%aﬁ llﬂ’-'iﬁ?."ll]
' ‘20 . 2i = 3 ‘monthis ) . o9ns 2
' : : 3 ths Tater . Profit of A = ——x
Requn-ed Ratio of profits (FIT'H Eb‘r : ;rl? er(gorclzncd_}:%ledé\% gl %n(%'qﬁ?ﬁm . et ]
aﬁmaﬂma) ,_ Wf[n g;’ ® $ \ﬁ , - 150 u‘.nit_’s
o 20:21- : . e 22'5 RENE ARSI
o c) Note :We i SStme values _ : L
3. (b) Let the capital invested by B ,;s per our rieedSit yﬁe ratio of val- Profit of B = 3 x1 75 umts
o BES "g T'gqf') tx ues should /r(‘;ofg' ghEnged. (& Tt Total profit Of B (B &1 % am)
Capital < 36 000 : ferr 3% Wm Hﬁ?ﬁ% SiER = (75 + 75) = 150 units.
a.‘Plb 190 X ERInks ) ' According to the questlon,
Time — 12 :8 T ' 150 units = € 20,000
3 2 "”‘55 A B C A
Profit — 108,000 ¢ 2 5 1 unit = 3 22000
L ront 3 ;000 © 2x unit = ——
- According to the question, ’Irﬁ _Veapltal—:» 2 1 e 8x 150 .
L alcapltal mvested byA(AET{[ FFH’Q” : IR
108,000 _ 3 y ‘g/ : - 150 units = ¥ 26;’5%)0“5_0 :
2x 7 =(2xx6+3xx6),—30x - % 20,000 ‘
08.  Total capital i ted by B rvmls‘
de'm M = 42.000 | Trgf T,ﬂ)ap 1 invested by B (B 5N 7. (o) Let the total proﬁt (f{FiT ET| m
18 . =% k.
Reqmred investmerit by B(B E’I’{[ = (fxx 6 + 8x x 6) = 72x i According to the questlon
7 G = 242,000, Total capital invested by C (Cgm FP'I'I's’
] i .
Alternate : Note :AT Save n—s‘(qgﬁ) 8% 1 6546 svzf:lzlrrlnng profit after paying ; 20%
“valuable time in su h typeiof ques- * 6x + bx X g
tion try to use below; %‘ = (48x + 36x) = 84x Partner's commission @N Eb'ﬁ anﬁ
A . New ratio of eapltals (G %1 7o TSR F 20%. HHTA %ﬁ'q%aﬁﬂm'
SFI) (k - 8000) . -
' A :B ¢ 20 .
‘ Lo : (k- 8000) x 755 = 8000
Capital > 30x : 72x: 84x o :
Profit>5 : 12 : 14 k T48000 so00
Note : Profit' would be d1v1ded in 8 (d) otal P rofit = ¥ 4 ’
. the ratio of their capltals. (Eﬂ‘q gt C
P, andP areproﬁts (PH%TTPFIT‘H‘Q) E#emmﬁa%m : ‘ P:Q: R
' i;;t g—,;pltal mvested by B(B TR arrr;f Required ratio. of their profit (ET‘H Eb'r Capital-> 1 3 2
= )=%x sifiree S ) =5 12: 1 2
L 4 .
) Profit~>2 : 3 4
- ‘W_z«zafrd&of;lwaths. - Rakesh Yadav Sir
.. e o 'gmwn“" ‘a'}‘ w A2 oo  '., - - - Cpr—— ,, §
: R S o s A BT B O P £
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'2 % 80000”
: 3 x 800001

4 % '-80 000

S Capltal-er x : (4x-50)

‘ i',__(x * 2x + 4x - 50) = 13,950

o 7x=50 =13950 : 14.

i .--7x S =14000 : ,
= 2000

APt '}"Share of A = % 2000
" 10. (9) Capital of A (i) ¥ 45,000
: Capital of B (i) ¥ 30,000 -
Ratm of PL:P,=2:1 ’
Now by usmg formula,

_Ci L |
C, T, T By

| 45000%12 o
30000%xT, ~ 7
T, =9
’ Then B would join business after
(e Bwnﬁa’mmﬁ)uz 9)

= 3 months
"11.. (a) Let Y's investment is used for
T months (1 Y F Ieft TR % frg
FWHTE #T 7§) - Now by using N
! formula -
. :-5X8 5.
6xT, = 9
T = 12 months
12, (d):

M NRO

No of lows_> 16

30, o 108 84

N ’
Iy s %’Q 2920 27 21
R Accordmg ho? the questlon, )
L 12 umts —;? 2400
S 1 t % 2400
2400 | ? 5 400

j‘ ﬂla | b 15.
Tlme —>§@ % 4\3 6 2 ’
= . .

, ‘:ACCOrd]_ng to: the questmn, x
S+ (e +12000) + (x + 5000) + x = 47000
© 3%+ 17000 = 47000 - ‘.

3x =730000: -
x=10;000v_ e
) A : B : C
Capital 22,000 : 15000 :10000
Profit — 22 : 15 : 10

(22 + 15 + 10) units = 4700

4700

1 unit= —— =
unit- = a7 100.

Share of C = 10 umts = 10 x 100

=% 1000 7

By A .. B+C
Ls ¢ Z2gennn(]) : W
. “.',}'
1l 4, (). @.\ '\SJ\'

: Note The total sum of A, J
Cowill be saie. \\

so .equate the su\*m of botho‘the

equatlons \ | «‘

After-that new ra’cm,\f \,\Bvﬁﬂl C &t

A o A R ?rTcT IO AR

1m$aﬁ=ﬂ1 -s)/

A

3 : 7
Accordmg to the question,

(5 + 3 +7) units = T 11250

15 units = ¥ 11250

1 unit = ¥ 750

Difference in- shares of A and B (A

7B R A @
= (5 - 3) x 750
=% 1500

(@) X CY

Capital->50,000, . : 40,000,

Time-> 1¢ : 1

Profit> 50,000 : 40,000

5 R S
Note : Always remembers when
time is same the profit will be di-

MELDIE

19.

20.

vided in the ratio of their profit. (&
sﬁwmﬁﬁm%?ﬁwqﬁ$wﬁ

- w

szmrd Of' Maths Rakesh Yadav Sir

afRoosiz g

;'“‘——’———'=_

é 7 months

. {12.— 7= 5) months.

SISHE @)

6@'00 x Ty,

. so B Jomed busmess after

@B%Wﬁﬁ‘q’ﬂﬂ)

N A B
Capital - 1,85,0000 : 2,25,000;,‘
Profit > 37 _' 45
‘ ix-zoo o l,x 200
7400 . 9000
Total profit = ( 7400 + 9000) -
=3 16400
(d) ‘
A B .
Capital—»35,000 : 56,000
: % 900 ‘,\Lx 900
4500. 72,00 .

Total profit =

=% 1, 17, 000
(d) A B
. 40,000 : 75,000.
; 8 15
Time —> 5 .5
Proﬁt—-—> 8 ‘15"

Note If time'is same then rat10 of

“thier profit Wlll be d1v1ded in the ‘
ratio of their capital. (S sﬁ Btk A

ﬁm%‘cﬁww@%a@mﬂm%
. (8 *+ 15) units. = T 46,000 -
23 umts = T 46, 000
1 unit = ¥ 2,000

15 unit§ = 8 2000 = ? 16, 000

- share of A(A T m) =216, ooo» ‘f.,

(45000 + -72,000)
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1 unit =

S S L =4‘-6‘,0‘00 ) :
G Bumits =¥ ——e——x3
L =% 17,250
. Hence ‘share .of B B Tﬂ fG’FHI)
=¥ 17,250
.(b) Total investment of A in 4 years
: (4 o F A w1 Hw FEw
= 40,000 + 50 000 + .60, 000
- # 70 ,000
=% :22,00,00 i
Total investment of B in 2 years
(2 5 4 B =1 ot Fraw
= 85, 000 x2 = 170,000

A : B

e

Capital— 29,0000 :

170,000

. Profit—> 22 17

e Accordlng to the question,
(22.+ 17) units = T 1,95,000
-39 units = ¥ 1,95,000
1,95,000
39

1 unit= %

1,95,000

22 units = ¥ 39

x22

= ¥ 1,10,000
(c) Let the Y's capital was usedffor

T months(®FI Y &} Gt T WEHT 37‘
T T

According to the question,

23.

7 %8 8

9 xT 9
T = 7 months 5
Hence capital Q?waag used for 7

months (\"JﬁpY.k }@7'%"!711@]%111

,téls of ¥ was used

YOSt T a

- Accordmg to:'the questmn
. Bx8 5 '
6><T =9 = T=13 months

: _Hence capltal of Y
12 months

24.

was‘ used for =

8
Accordmg to the questmn, .

‘Note =60 % of profit should be di--
vided equaly ‘between them (aﬁ_f:‘ :

~60% wwmaﬁawa’é‘m
"8 units = T 300
300

,lumt—?“"g—“‘

800 49

42 units = ¥

300 x40

.. 40% of profit = ¥ 8

300x100x42_
Total profit = ¥ 8 x40

. =¥ 8937.50

_ A T H 5% < F e s ) ;
26. (d) , . . J .95 % of total profit = T 14250
" 1st Brother 2nd Brother ':%\‘Lf' 14250
Capital— 50,000 7o ,000 Q\@ 1 %. of total profit =¥~ ==,
5 7 4”‘% 100 % of total profit .
52 " N _z 14250 100
= 57 units o \) © 95
Accordmg to the q‘he f\o‘ k =% 15,000
57 units = ¥ §,5§b~w 28. @ :
A A : B - C;
Caplta1—>
Y g Time—) D D
x100 =zi5000
. Proﬁt—>5
i Y Note : (i) We know i
2 Profit = Time x capltal mvested i
(ii) In such type of questlons we
1 unit =2 8550 % 2850 should assume value of time as they g
3 can satisfy the ratio of profit. (31; :
TR & S o wo  dw Am @ g
5 units = 2850 x 5 = ¥ 14250 ﬁwqa}mﬁwmm% S
Note : 5 % of total profit is donated - ". Required ratio of Time (1 &l e
(€41 BT 5% T % e sien 3) i 1 3 ' |
SR AR)=1: = & —
. 95 % of total profit = ¥ 14250 2: 1 2 2
- . . 3
. Alternate -
1% of total profit = ¥ \492550 Profit = Time x Capital ’“"CSted
' . Proﬁt
100 % of total profit Time =

14250

=X 95

x100

=¥ 15,000

o share of X

57 umts
. According, to. the quest: )
57 umts =% 8550

Y
Altemate
3 ‘units \2;;8550 _ LS
& ~ 8550 _
/L,‘:z‘lggit =7 3 = ?-2850
5 uﬁlts 2850 x 5 =% 14250

Note : 5 % of total profit is. donated

Capital in’vested

53
Required ratio of t1m = g -6_
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ll< N

‘Profit of Z = 20 i 3z 880

. 83.7(c) Let total profit. (m=n T '("IT"JI) 56
: ot =24 umts o
G f""Prdﬁt GfA = %24 = 3 units -
147 DL ! 8 I Let thelr
SR ‘_1 S 2x and 3x R
ST 906  Profit of B = —%24 = 8 units - “According to Qestmn B T
Accordlng to the question, . \ : 3 B . If A adde@ ﬁ,ﬂ :_6)00 to hlS mvest-- ‘
(7+9+6)umts-?264oo A B c - ment fx\a i aﬁ(" ‘
; ip (A A~ IOW
S 26,400 Capitat>Xx : y : 1560 Then g Ra (% A H 10
- Lunit =% =5 A R Frdm o =312
, =% 1,200 grm;et*"‘» NG < - N iR 3
 Regiured difference (312 St = ©© \?Jé—liiow 8 1 13[24-8+3) N.l 3x = 5
Lo = 6) ,x, 12‘0,0 ¥ 3600 . . Capital x T1me = proﬁt A ( L dx + 20 00@ = O
30, (a)-According to the question, : D W : g
LX : Y -z Profit o 5x =,20000,
R : ) " Time — Capital 5 © . x =74000 b
Capital—> 6_ - 3 : 1 3 : X = original mvestment by A(A EF‘ o
. : x2 \/ 13 . :
S 2 N3 19 imits = 1560 A )= 2><4000=?8000
.. Required ratio - of capital o 8 : v “Alteriatwe 5
; = 6:3:1 . . - ~1 unit =% ‘960_ ) 3x2
@ X Z  960x8 3x3 2 x3
7 2 1 ) . © Note : we know A has an addlitional
3 =3 y =X 1280 - amount. So amount of B would be
X o Y 3 same(Aaraxﬁﬁaaﬁém%?ﬂBﬁtrﬁt
x = —%960
AN A @)
, 3. 22 Capital of After that new Ratio
" Note : X will be same in both cases, : Capltal :) A B
“hefice new required ratio (X gl fearfcdl 34, /(éw‘Let \'i(:h(?\\%(‘)aplt 4 m Tﬁ) 18 4 0 6
% QM § o1a: T A ) ¥ +50
X : ¥ :Z I}eQ\t:\h\E time (A1 &S 'HTRI] =6 years" ’ '
\?'X"'Y D Z L B
6 : 4 : 3 o, : " o
According to the question
_Accordln to the question, -\ Al 3 9 5 units = % 10,000 -
16 +4 + 3) units = ¥ 1,57, 300/ §aP1t - D D Dx | wnit =% 2,000
13 units =% 1,57,300 X S
gt =% 15100 b4 ;V l Time—> 1 :4 Initial capital of A (A ¥, T fa)
. . . Profit—> 3 : .= 2000 x 4 = % 8000
& 4 = :
: umts ¥'1,2100 %4 iy : 38. (d) Let :capital be ¥ 11x and Yis
) =% 48, 400/— 1 4 18 capital be % 12k
iy ing to th tion,
o Share of Y=X 9‘8 400 According to the question and let time for which Y mvested capi-
35 (1 + 4 + 18) units = T 23000
. (a) . Let the total tlme‘@:l'rx@j,a m 53 units = ¥ 23000 ‘talis T, months (AT fF 45t 11x oY
= 8 years N 1 unit = T 1000 Ht ‘Efﬁﬁ%“ T T 12080 T, ‘?3)
Let the totalﬁ(cap. = 4 units = ¥ 1000 x 4 = ¥-4000 by usmg formulas :
20 ‘units % Share of Y is ¥ 4,000 CxT, P
‘ -f-'?,\X 4 Z 35. (b A B CxT, = P_1
# \éz‘\ / 4 5 - . 12; 22 2
Capltal—)“~§ 11 According- to the questionm, 11xx8 o
) x ; (4+5) units= ¥14,130 T, =3
Tune—->2 8 14,130 L L 11 momti
Lunit = T—5— = 1570 T, = 11 monthis _
—) : S v - sy
PI‘Oﬁt 10 38 5units =5 % 1570 = = T7850. » Hence the time for which Y in-
. Hen‘cé share of B (B &1 _fetwn) - vested his. capital is .11. months (31?1' '
- 27850 Y3 11%%1“@1@1%&31%)

Wtzard of Maths Rakesh Yadav Szr

o

EX o i ti‘ '"““e

hgﬂsnn

d q i3] o

g L N

Scanned by CamScanner



% = ? 12000

A B c
Ratio of {(x + 8000) © {x 3000):  x
12000

Amount {12000+ '8000) : (12000+3000)
. _20 000: " : (12000+ 3000) 12000
200 15 12
Since the’ time for which the
N amounts were invested was same
. forall partners the ratio of amounts
*will be the ratio of profits (& 9 T
TR A A Y i < are )
Share of ‘Aout of total profit (A T

- fewm)
: 14100

T 204542 x20 =
(@) LetA’s Capltal (TTFlT Hﬁﬁ‘\’[ =t gohy)
S =%x - ..
Let B’s Caplta.l (an BT N 1@&) Ty

: Now Ace. to question
o A B
. -Capital = x’ y
time (in month) .-10(9 +1)
"9 Ratio of profit 5 : 6

6000

40.

we know
10xx 5 ’ X 3
%y "5 Py a

=i

" Hence the’ required ratio of ca{a‘?:

oanndBls (am eq%ﬂw TR
=3:4

B) Total cost of thlng a‘%ar =
4,160

’ »»"Accordmg to questfg%\ A

; "Tlme of* usmg car,

\%

in Hours

- Here the ra o % tithe will be the
3 raﬁo of; }r_ent ch rson has to pay

S g Mg

47,

¢
11

e '
10 be pald ' ; -11‘

Vi vRent shared by A(A ERT ﬁ'ﬂT RiE

proﬁt.shareofB (B W 13“"’ =

__-4umts‘ 3
" then profit - share of c (c Eos fzw)

43.

Amounts

i

‘lx16
47"

= 11643

= 9 units S
But proﬁt of C =% 243 [ glven]

9 units = T 243

1 units = ¥ 27

profit share of B (B &l %) =4 umts
=27%x 4= 7 108

(¢} Total profit. = ¥ 880

Since ‘A gets 15% of total pfoﬁt for
- management(A I TIH T 15% SR 4

Teler @ forg fireran %)
Remalmng proﬁt = 880 -
=% 748

5 ooo 6%0
Ratio of Capital o
The remaining prof t

A’s share: ofproLf\ut{ﬁLH T A = ﬁ?@ﬂ)
v

A

12 7 5
'1,68,000

tlmc (in moriths)

‘Ratio of profits 4 3 : 2

:3'x:

Let their profits 4 2%
©4x =.1,68,000
168000
= . 42, ooo

= profit share of ¢ (?ﬂ'ﬁ' ﬁ C =
fewm)

= 2x = (2x42,000) = % 84000
= Capltal 1nvested by C (C =t gsft)
‘ 84000

5

716,800

L .Capltals 1

é em3d1~ .

vided in the ratio o,ﬁ«:\cal%ltz(l (9= @)

5 X ><15un1ts Ex

5 v /8
- Tnn x 5. ; ) e
Ratloof Tleumts 6

15 ,

‘5. &

“ Ratlgfg_ﬁ\ % “
Total +2 +28 = 35 Units

also, total ofit = T 1820 (leen)
\“ﬂ%rumts = 1820

1 unit f_‘_ 35

Jence A share in: proﬁt (aqa A ?I S

ig‘d = 5 units = 52x 5= 4 260 L

101 . i
@ 46. (c) . Let ratlo of proﬁt ofA and B A

+is.a : b,

Ratm of profit of B and c= a b i
A : B B ~: iC 1
a,. b,, a, : . b, i

P

Note: Value of B would be same in both™ < |
cases (3 Feufed & Bt 'HF[WH'{%TH) il
A : B . : SR
a? .ab : b2 1]
i Accordmg to. the questmn, Lo
R ) a¥=6400 . |
Siml'arly : b2’ .= 10,000

= b .= 100 iy
Amount recived by B (B ﬁR‘ﬁ Uil ) i
=ab=280x 100 _
= 8,000 . |
47. (@) A B iy
Capital - 20,000 4,000
5 : 1 T

As salary = 12,00
Remaim‘hg’profit ) s

( 1800 - 1200) = T 600 |
6 units = 600 i
1umts=?1’00 S

. share of A AW fE"WU
= 100% 5 = % 500

" share'of B (B fﬂwﬂ'
=100x5=%100 = "
.- Total share of A (A &G
(1200 +500) = ¥ 1700° Zj_‘f;
Total share of B (B W

faw) % 100.

Wi
. yzard of Maths Rakesh Yadav Szr
B} . . T"u we , ﬂmq "B'.‘.’—% ;u:’;?:ﬁ' ;B ¢ ”ml‘v;' T, d gha “{.“ Y g <
) > a ’ ooy ":‘,‘-‘ B; ,_D :% 3 ° o i : "71: CAR I (3(“ B E : ‘j
) . L o 3 ’-,\ " LR R ‘é‘ ! Lo y
o kvl
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5 share of C (CEET %W[)

1 .
200>< 7= 50 umts :

Rema1mng share (19 %m)
200 = 50) 150 wunits
200
3+2

200

342
Accordmg to the question,

- .. .C recives equal amounts from A and
B(A W B¥ cemRImHME)
.. A’s remaining share (120 25) e

= 95 .
+(80 — 25)
55

'“s'har-é of A = x3 = 120 units

v‘ sha.re of B = x2 = 80 units

Il

. .B’s réemaining share

Neéw Ratio— 95 : 55: 50
oo a190r 1100010

50. ¢ 0 A : B+ C

Rati6 of profit— 2 : 3 : 7

‘:Averager gain = T =4 um'ts’\ A A

Accordmg to the questlon,\
" 4 units = ¥ 8000
1 unit = ¥ 2000 ,
3 units = 3 x 2000
. x. " share of B = ¥ 6000 &
51. () A : B X/

e tlply iratios:
TT-"{wﬁ s gﬂwﬂﬁm‘Aﬁer
that riéw Ratio of proﬁts o
: A :_ B i Co .

. A_‘,P'rpfi:t;_)" 07+ 18 _«63’1

~ According to'

53.

o Total capital. of B invested in: 1 year
: (Bgm@wﬁﬁéﬁmmnﬁn 2

A : B: C Csa

72 0 5600
€ questlon,
9 +7 + 6) units = 3396

- 22 units =%.396

.. ‘Share of A =18 x 9 =3 162

{b) Total capital of A invested in 1

yéar (AR T Wt A Frafir %o I

= 48,000x 3 + 40,000 x 9
="1,44,000 + 3,60,000 = ¥ 504000

='60,000 x 6 + 6;60,000 x 6_ 4
=% 756000 \
S A
Capital—> 504000 4
Profit—> 2

: ’6" -
390 420 300
Proﬁt —>13 b 14 H 10

M’s extra share on working part-

v ner (T T AT WER T MEFI‘W

5
= 7400 X 100" ¥ 370

Remaining Profit (1% @)= ¥ 7400
- %370 = T 7080 ‘
Aécording to_v the question ,
(13 + 14 +10) units = ¥ 7030
| 37 units = T 7030

1 unite = 7 7030
1 umits = X 757

) \;; Required ratio of proﬁt (H"ﬁ"’? o

Capital-_% 45000, 80000.: 120000
(year)Time—> 2~ 3 .1
T 120 1120
. Profit—>90 .1 .129,
3+ 4 : 4
Required Ratlo proflt (areftse
AR =3:4:4
58. (o) A : B :_ C
Capltal——) 48000 3 '4\8(')()0\’ » 48000.
Time = - 6 1o 12
Profit — 6 : 10 : 12
3 : 5 v 6 -

‘Note : The capital of all the partners. are

3 9w T S ST H SR )

angm)sglo

® b
B4 C

equal so the profit would be divided in
the ratio of their time. =
According to the time, (Si< o gsil §HE ol

(3 + 5. + B)units= X 5250

14 umts = ¥ 5250

1 unit = ¥ 375 :

- Share of A =375 % 3 = ? 1125
Share of B = 375 % 5 =.%31875
Share of C = 375 % 6= ? 2250

59. ) A B 0
Capital—- 60000 : 80000 120 000
Time — 4 : 9. e 12

Proflt—-) 240, 000 : 720 000:: 1440 000
1 : 3 6
Accordmg to the questlon,
1+ 3.+76) units = ¥ 1,60,480;

10 units = ¥ 1,60,480

T 7080 1 unit = ¥ 16,048
L7 53, X455 Profit of Q = 10 units = T =57~ * Share of A' =16,048 x 1= ¥ 16,048
Lo B 10 = ¥ 1900 g Share of B = 16,048 k 3 =% 48,144
' Share of C = 16,048 x 6 = 296,288
szard @f Maths Rmkesh Yadav Szr i J‘{M.l o
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Cap1tal—> 25000 4o 000
CoProfit— 5 i 8 -
R (5 + 8+ 12)un1ts .
i 25 units = ¥ 37450
1-unit = ¥ 1498

Share of B'= 1498 x 8 =%
Share.of C = 1498 x 12 =
(b)Capital invested by A

61.

‘Capital invested by B

Ratio of profits. of B and A
700 9 : 7

GxT
C2XT2

We know, P2

42,000 x 12
49,000 x T,

T, = 8 monthé

9

7

= (26000 - 10000) A
. =%16,000

nt’r

x “%}

_1 205000 5000
%8| 76,000

\gy!

'(x+500“)

4x =8x % 15000
: x=%15000 .
‘ Requ1red capital of A(A =T
=% 15,000

s Reqmred cap1ta.l of B

= (15,000 + 5000)
%20 ooo

Jl'

e
" ' i\ CrxTy _
. By using formulziéscs % Ty P2 )
L R

: 60,000
:o120
< 37450

‘Share of A'= 1498 x 5= ¥ 7490

11984

17976
(A g Frafer ey = % 49, 000
(B g ek wf) = € 49,000

=900 :

It means B invested his capital for
8 months.. It means he joined busi-

)

(B frw )

(T W ¥ B PR = 100 6+ S

6.=90x - :
o 'I‘otal capital invested by C in 1 year
(T | ¢ )

U= 6x x 12 = 72x
Ratio of profits :
A s B : C -
300x : 90x : 72x
50x 15x : 12x

According to the question,
(50x + 15x + 12x) = T 346350
77x =% 34650

64

x =T 34767,50 =T 450
Profit of A (A %I &)= T 450 x 502,
= ¥ 22500
Profit of B (B &1 %!In) % 450 x 1af
=¥ 6750 &
Profit of C (C T 13'{:51) g 450 Xjfl &
=¥ 5400 .- é\. \
(d) Total capltal invested by.A m 1

year (T W1 dAT ﬁasr) =
= 36000 x 125 £:432000)
Total capital mvested Bfin 1 year
(&F 9 5 By ﬁEED
= 45000 x 4+(4:5000‘
+ (ssooo + 25000)%°3
180000¢-:j125000 + 240000

20000) x 5

ness after (12 — 8 =4)  months. (3W: f‘\ \"\; A T B :
B#wuﬁqmwﬁﬁémﬁ;qn Ratio of 'apltal 432000 : 545000
62. (d) Let amount invested by A f)‘Ran OQPTOFt 432 545
=F 5 . Accrordmg to the question,
B . A. B : (4‘82 + 545) units = Rs. 117240
Capital = x . :  (x+ 5000) . @ 977 units = Rs. Rs. 117240
According to the question, - /:»-' f’“{*-,\ ' 117240 .
Share of A in profit (A ¥ fe&H) ‘_\j\\%s Lunit = === < Rs. 120
3 (.276000,—'600'0) 210 ooo A Difference in profit = (545 - 432)
2 ; 120
Share of B in profxt (B EI-I[ = 13560

It means B will get Rs. 13560 more
than A. (30: B #t A ¥ 13560 Rs.

- e e )
65. ) A : B c
Capital 24000 : 32000 : 18000
12 16 9

Let the total profit (AT et ¥19)= 100
Extra share of A (A % aaﬁrﬁaa T%wr)

= 100x x 18
* 100

- Extra share of B (B @ afﬁrﬁaa fewm) =

= 15x

- 12
1
00 x 100

= 12x

. Total cap1ta1 mvested by B in- 1 year ‘

68.

Note:. Remalmng profit will .be. dmde in

Share of C

7k .
= f(i2"+"1‘6"-r 9)

657x
37

= Rs. 6570’6

: 60700% 37

Rs 3700, :

),
£
. Hgnce

= 100x=

B c

2 : 162 : '5;_2.
e Axa¥ iaxe¥ Coxpp
‘Z¥Ratio of Rent 96 - 384 . 108 G
8 :32 :9 e
[x36 |x36 |x36
v P s
288 1152 {324

Total rent (288 + 1152 + 324)
= Rs. 1764 -
&

A B :.C
Capital 3 : : S
api 30012x : 4-00)x SOO)X i
Time 12 104 : 6 #
Profit 60,00 :4000 :4800
15 10 12

According to the question," L
(15 + 10 + 12) units = Rs. 444 .

37 units = RS. 444 Gw
1 units = —— =
units 37 Rs. 12

Profit of A = 12 x 15 = Rs.’ 180
"Profit of B = 10 x 12 = Rs. 120
Profit of C = 12 x 12 = Rs: 144 .

(d)B’s profit share in 1 year (& W
¥ B & W) =12 x 100 =Rs. 1200

Int 10,0_00:x5>‘<1 S
nterest of A = - 1010i .
= Rs. 500

4000x5x1 %RS{ B0 i

Interest of B = >
-nterest of B 100

Total profit of Aand B (A TSN BF T
W)= (1200 + 500 + 200) = Rs.1900 "

Remaining profit ('{ﬁ'q )
= (4000 ~ 1900)
= Rs. 2100

the ratio of their profit. (ﬂ'ﬂ' w4 T’ﬁ
F I | Tom)

o © & PR R TR ; T —— —p e
E oy gy, W 8 aa - "s@ et T e e iy By o mad o W@,
e , o vl oug " EL I & 6% o o ) 350 Py s
o . w - o FP Lty c

Scanned by CamScanner



' _Total proﬁt of A (A EI W )
, 500 + 1500 = Rs; 2000

’ ,Total profit ofB (B HOHA W)

= 1200 + 600. + 200 = Rs. 2000

: ;595_.,(.-:(a) Total capital invested by A in 1 -

year- (T W@ 9 A1 fidr)
= 12 x 4000 = Rs. 48000
g - Total capital invested by B in 1 year
(e A B )
.7 = 6000 x 4 + 8000 x'8
= 24000 + 64000 = Rs. 88000
Total capital invested by Cin 1 year
(@ T | C w1 FE)
' =8000 x 9 + 3 x 6000

= 72000 + 18000 = 90,000
A B : C
Capital 48000 -: 88000 : 90,000
24 : 44 : 45

According to the question,
(24 + 44 + 45) units = Rs. 16950
113 units = 16950
16950
113

1 units = Rs. Rs. 150

Hence,

Proﬁt of A (A w1 fg&) = 150 x 24

' = Rs. 3600

Profit of B (B =1 &&= 150 x 44
=Rs. 6600

]

Profot of C (C fewmm) = 150 x 45, ;«

= Rs. 67§

70, @) A:B:C-=

-b]v—'
coir—*
o=

Ratio of shares: of A, ,4B(k'and C

. : B A4C Sy

- Capital g 3x 4x %‘ ﬂ‘x ‘")
Total capital 1nve§€ed@b Ain 1
year(W W 7 A g, F7)”
=3x x4+ 1 Sx? —]:4x

.- Total- capltaglf- ny ‘t’ed by B in 1

= —X0 =
- 4x % 6 +\y3 x6 = 32x

y Total capital invested-by C in 1 year ‘

(@ we & cm fR)
= 2% % 12 = 24x%
’ Az B c
: _Capltal 24x : 32x

24

='Rs. 4200 .

Profit of B/(B &1 m'm)-

= Rs. 5600

Profit of C (C F1 fewr)= 1400 x 3
, = Rs. 4200 o ‘
7Y, (b)) : B .. C.-
Capital 2'5x . 16x 24x

Total capital of A in 1 year

(T W& A A w1 fdn)

-Hence Profit of A (A m ﬁw) 1400‘

=25x x 3 +(37.5x x 9
= T5x + 337.5x = 412.5 x
Total capital of B in 1 year

1400 x 4 i

(105x +198%) =
1308x ,.1,029

Hence, srfhref* A (A & ﬁswr)

{& /“ )

= :-RS.‘ ,3535 ‘

o
(= w1 # B 1 frdwn) o ‘ :
= 16x x 12 = 192x S ' _10201 :
Total capial of C in 1 year Ak eof B (me Tog:x; 303
(n;maljcaﬂﬁﬁm) S A {” fQARs 6666 o
X = . ) % Rt
A x . 288xB - '{4» J}Interest for A (A k| EETl?l) E
Capital 412.5x : 192x : 288x _A\g{ N 42000x%7x1 :
According to the question, "«\ R = " 100 " Rs. 2940
(412 Sx + 192x + 288x) 35700%\;@ . RS P :
35700 Interest for B(B®T  =0T9) -
= =Rs. 40 '(\ ‘ o :
8925 A 48000 x 7 x1 Re. 3360
o = —— -7 =Rs.
Hence, Share of\ ﬁ%(A & fW) 100 ’
= 412.5 x 40 = Rss, & gﬁ’ﬂ : Interest for C (C W1 saT®)
72.(0) Total profit (e am“ia- Rs. 4000 ' -
. 32000x 7 x1
According to the’ qugstlon = """ _ Rs. 2240
20% oszs caw RS. 4000 100 Cel
\N\ l 4000 Total interest of
1% of B\‘ ca pi’c 20 “(A+ B+ C) = (2940 + 3360 + 2240)
;-1:; 9‘\4 = Rs. 8540 .
/ to?’:’ﬂ capital = —290 100  Remaining profit = RS. (32940 ~ 8540)
L 0 ' = Rs. 24400
";}V—Rs 20,000 o A : B : ¢
 Let total capital re)qmrl‘:)% for tbus‘ Capital 42000 : 48000 : 32000
ness (A% %9 F&¥1) = 100 units. 21 24 . 16
A . B E According to the question,
Capital ‘30, : 40, : (21 + 24 + 16) units = Rs. 24400
x 500) . x SO?) 61 units = Rs. 24400
¢ 1 units = RS. 400
15,000: 20,000 :

73.

Hence,

Required capital for C
(C #1 @)= RS, 15,000 »

(a)Note: In such type of question we
can assume ratio as per our need to

 avoid fraction. F9 W& ® WA ¥ T

I B o T YR )
. A : B
Capital—>» 7« 3 '» 9x,3
o A : B
New Ratio, —> 21x D7

Total capital invested by A in 9
months (1 w3 § A% fw)

Wizard of Maths - Rakesh Yadav Sir—

Herice, Share of A in Remain-
ing profit (3% s § A e
=400 % 21 = RS. 8400
Share of B in remaining prof1t
RERCEE: B )

=400 x 24 '
= Rs. 9600 -
Share of C in rémiaining profit
WWﬁCW%WU ,
= 400 x.16 = Rs, 6400,

. Total share of A (A ¥ %o )
= 8400 + 2940 = Rs. 11340
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